
ATTI ACCADEMIA NAZIONALE DEI LINCEI
CLASSE SCIENZE FISICHE MATEMATICHE NATURALI
RENDICONTI

LU-SAN CHEN, CHEH-CHIH YEH

**Nonoscillatory generating delay terms in functional
differential inequalities**

*Atti della Accademia Nazionale dei Lincei. Classe di Scienze Fisiche,
Matematiche e Naturali. Rendiconti, Serie 8, Vol. 64 (1978), n.5, p. 433–439.*

Accademia Nazionale dei Lincei

<http://www.bdim.eu/item?id=RLINA_1978_8_64_5_433_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

Equazioni differenziali ordinarie. — *Nonoscillatory generating delay terms in functional differential inequalities* (*). Nota (**) di LU-SAN CHEN e CHEH-CHIH YEH, presentata dal Socio G. SANSONE.

RIASSUNTO. — Questa Nota estende precedenti risultati di altri e degli stessi Autori ad alcune classi di disequazioni differenziali.

INTRODUCTION

This note extends and improves the results of the authors [*Nonoscillation generating delay terms in odd order differential equations*, "Rend. Accad. Sci. Fis. Mat. Napoli" 43 (1976), 189-198] and Dahiya's [*Nonoscillation generating delay terms in even order differential equations*, "Hiroshima Math. J.", 5 (1975), 385-394] to the more general differential inequalities of the form

$$x(t) \left\{ L_n x(t) + \delta \sum_{i=1}^m p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) - h(t) \right\} \leq 0, \quad n: \text{odd}$$

and

$$x(t) \left\{ L_n x(t) + \delta \sum_{i=1}^m p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) - h(t) \right\} \geq 0, \quad n: \text{even}$$

where L_n is an operator defined by

$$L_0 x(t) = x(t), \quad L_\kappa x(t) = \frac{1}{r_\kappa(t)} (L_{\kappa-1} x(t))', \quad r_\kappa(t) = 1,$$

$$\delta = \pm 1, \quad \kappa = 1, 2, \dots, n.$$

Recently, Dahiya [2] and the authors [1] discussed the non-oscillatory property of solutions of the following equations

$$x^{(2n)}(t) - \sum_{i=1}^m p_i(t) x[g_i(t)] = h(t),$$

$$x^{(2n+1)}(t) + \sum_{i=1}^m p_i(t) x[g_i(t)] = h(t).$$

The purpose of this note is to improve and extend their results to the more general differential inequalities of the form:

$$(A) \quad x(t) M[x(t), \delta] \leq 0, \quad \text{for } n \text{ odd}$$

$$(B) \quad x(t) M[x(t), \delta] \geq 0, \quad \text{for } n \text{ even},$$

(*) This research was supported by the National Science Council.

(**) Pervenuta all'Accademia il 6 luglio 1977.

where

$$M[x(t), \delta] = L_n x(t) + \delta \sum_{i=1}^m p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) - h(t).$$

Here L_n is an operator defined by

$$L_0 x(t) = x(t), \quad L_\kappa x(t) = \frac{1}{r_\kappa(t)} (L_{\kappa-1} x(t))', \quad r_n(t) = 1, \quad \delta = \pm 1$$

for $\kappa = 1, 2, \dots, n$.

Throughout this note, we assume that the following conditions always hold:

$$(a) \quad p_i, g_{ij}, h, r_\kappa \in C[R_+ \equiv [0, \infty), R_+ \setminus \{0\}], g_{ij}(t) \leq t,$$

$$\lim_{t \rightarrow \infty} g_{ij}(t) = \infty, g_{ij}(t) \text{ is nondecreasing, } g(t) = \max_{\substack{1 \leq i \leq m \\ 1 \leq j \leq k}} g_{ij}(t),$$

and

$$\int_{t_0}^{\infty} r_\kappa(t) dt = \infty \text{ for } i = 1, 2, \dots, m; j = 1, 2, \dots, k; \kappa = 1, 2, \dots, n-1.$$

$$(b) \quad f_i \in C[R^k, R \equiv (-\infty, \infty)] \text{ is nondecreasing and for each}$$

$$y_j > 0 \quad (j = 1, 2, \dots, k)$$

$$0 < f_i(y_1, y_2, \dots, y_k) \leq -f(-y_1, -y_2, \dots, -y_k).$$

Moreover,

$$f(y_1, y_2, \dots, y_k) = \min_{1 \leq i \leq m} f_i(y_1, y_2, \dots, y_k)$$

$$\liminf_{(\min y_j) \rightarrow \infty} f(y_1, y_2, \dots, y_k) \geq 0 \quad \text{and} \quad \limsup_{(\max y_j) \rightarrow \infty} f(y_1, y_2, \dots, y_k) < 0$$

where $(y_1, y_2, \dots, y_k) \in R^k$.

A function is called *oscillatory* for $t \geq t_0 (> 0)$ if it has arbitrary large zeros. Otherwise it is called *nonoscillatory*.

The following lemma is an analog of a result due to Lovelady [4], so we omit the details.

LEMMA 1. If $u(t)$ is a bounded positive function for $t \geq t_0$ such that $L_n u(t) > 0$ for n even or $L_n u(t) < 0$ for n odd, then $(-1)^x L_x u(t) > 0$ for $x = 0, 1, \dots, n$.

THEOREM 1. Suppose that

$$(C_1) \quad \limsup_{t \rightarrow \infty} \int_{g(t)}^t r_1(s_{n-1}) \int_{s_{n-1}}^t \cdots \int_{s_1}^t \sum_{i=1}^m p_i(s) ds ds_1 \cdots ds_{n-1} \\ \geq \limsup_{z \rightarrow \infty} \frac{z}{f(z, \dots, z)}.$$

Then, if $\delta = +1$, every bounded nonoscillatory solution of (A) is eventually positive, while if $\delta = -1$, every bounded nonoscillatory solution of (B) is eventually negative.

Proof. The proof will only be given for (A). Suppose to the contrary that $x(t)$ is an eventually negative solution of (A) for $t \geq t_0$. Then

$$(1) \quad M[x(t), 1] \geq 0.$$

Let $t_1 \geq t_0$ be large enough so that $x[g_i(t)] < 0$ for $t \geq t_1$, $i = 1, 2, \dots, m$. By (1) and conditions (a), (b) we have $L_n x(t) > 0$. By Lemma 1 for $\alpha = 0, 1, \dots, n$

$$(2) \quad (-1)^{\alpha+1} L_\alpha x(t) > 0 \quad \text{for } t \geq t_1.$$

If $s \leq t$, then $g_i(s) \leq g_i(t) \leq g(t)$. By (2)

$$x[g_i(s)] \leq x[g_i(t)] \leq x[g(t)].$$

From (1),

$$L_n(-x(t)) - \sum_{i=1}^m p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) \leq -h(t) < 0,$$

which by condition (b) implies

$$(3) \quad L_n(-x(t)) + p_i(t) f_i(-x[g_{i1}(t)], \dots, -x[g_{ik}(t)]) < 0.$$

Let $y(t) = -x(t)$. Integrating (3) n -times we have

$$\begin{aligned} y(t) - y[g(t)] + (-1) L_1 y(t) \int_{g(t)}^t r_1(s_{n-1}) ds_{n-1} + \dots \\ + (-1)^{n-1} L_{n-1} y(t) \int_{g(t)}^t r_1(s_{n-1}) \int_{s_{n-1}}^t \dots \int_{s_2}^t r_{n-1}(s_1) ds_1 ds_2 \dots ds_{n-1} \\ + f(x[g(t)], \dots, x[g(t)]) \int_{g(t)}^t r_1(s_{n-1}) \int_{s_{n-1}}^t \dots \int_{s_1}^t \sum_{i=1}^m p_i(s) ds ds_1 \dots ds_{n-1} < 0, \end{aligned}$$

which implies

$$(4) \quad y[g(t)] \geq y(t) + f(y[g(t)], \dots, y[g(t)]) \int_{g(t)}^t r_1(s_{n-1}) \int_{s_{n-1}}^t \dots \int_{s_1}^t \sum_{i=1}^m p_i(s) ds ds_1 \dots ds_{n-1}.$$

Since $y'(t) < 0$ and $y(t) > 0$ for $t \geq t_1$, it follows that $y(t)$ and $y[g(t)]$ decrease to a limit $c (\geq 0)$ as $t \rightarrow \infty$. From (4) we have $c = 0$, and

$$(5) \quad \frac{y[g(t)]}{f(y[g(t)], \dots, y[g(t)])} \geq \int_{g(t)}^t r_1(s_{n-1}) \int_{s_{n-1}}^t \dots \int_{s_1}^t \sum_{i=1}^m p_i(s) ds ds_1 \dots ds_{n-1}$$

for $t \geq t_1$. Taking the limit superior as $t \rightarrow \infty$ of both sides of (5), we obtain a contradiction to condition (C_1) .

COROLLARY 1. *Let condition (C_1) hold. Then every bounded nonoscillatory solution of $M[x(t), 1] = 0$ is eventually positive, and every bounded nonoscillatory solution of $M[x(t), -1] = 0$ is eventually negative.*

REMARK 1. Let $r_x(t) = 1$, $x = 1, 2, \dots, n$. Then condition (C_1) implies

$$(6) \quad \limsup_{t \rightarrow \infty} \int_{g(t)}^t [s - g(t)]^{n-1} \sum_{i=1}^m p_i(s) ds > (n-1)! \limsup_{z \rightarrow \infty} \frac{z}{f(z, \dots, z)}.$$

REMARK 2. Let $r_x(t) = 1$, $x = 1, 2, \dots, n$. If

$$(7) \quad \limsup_{t \rightarrow \infty} \int_{g(t)}^t \sum_{i=1}^m [g_i(t) - g_i(s)]^n p_i(s) ds > n!$$

Then, by the Authors [1] and Dahiya [2], the conclusion of Theorem 1 holds.

The following example shows that in some cases (6) is better than (7).

Example. Consider the delay differential equation

$$(8) \quad x^{(iv)}(t) - \frac{\alpha}{t^4} x(\sqrt{t}) = e^{-t},$$

where α is a positive constant. It has no eventually positive solution, as follows from Theorem 1, since

$$\limsup_{t \rightarrow \infty} \int_{\sqrt{t}}^t \frac{\alpha}{s^4} [s - \sqrt{t}]^3 dt = \infty.$$

On the other hand

$$\limsup_{t \rightarrow \infty} \int_{\sqrt{t}}^t \frac{\alpha}{s^4} [\sqrt{t} - \sqrt{s}]^3 ds = \frac{\alpha}{3},$$

so that the criterion (7) is applicable to (8) only when $\alpha > 18$.

LEMMA 2. (Kusano and Onose [3]). *Let*

$$(9) \quad u'(t) - \frac{\rho'(t)}{\rho(t)} u(t) + \frac{\rho'(t)}{\rho(t)} \phi(t) = 0,$$

where

$$\phi(t) \in C[[T, \infty), R], \quad \rho(t) \in C^1[[T, \infty), R]$$

and

$$\rho(t) > 0, \quad \rho'(t) > 0, \quad \lim_{t \rightarrow \infty} \rho(t) = \infty.$$

Suppose that $u(t)$ is a solution of (9) on $[T, \infty)$ satisfying $u(T) = 0$. If $\lim_{t \rightarrow \infty} |\phi(t)| = \phi^*(t)$ exists in the extended real line R^* , then $\lim_{t \rightarrow \infty} |u(t)| = u^*(t)$ exists in R^* . In particular, $\phi^*(t) = \infty$ implies $u^*(t) = \infty$.

THEOREM 2. Let condition (C_1) and $\lim_{t \rightarrow \infty} w_{\kappa}(t) = \infty$, $\kappa = 1, 2, \dots, n-1$

$$(C_2) \quad \int w_{n-1}(t) \sum_{i=1}^m p_i(t) dt = \infty$$

$$(C_3) \quad \int w_{n-1}(t) h(t) dt < \infty$$

holds, where $w_{n-1}(t)$ is defined by

$$w_0(t) = 1, w_{\kappa}(t) = \int_{t_0}^t r_{\kappa}(s) w_{\kappa-1}(s) ds, \quad \kappa = 1, 2, \dots, n-1.$$

Then every bounded nonoscillatory solution of (A) or (B) approaches zero as $t \rightarrow \infty$.

Proof. We only consider the case (A). Let $x(t)$ be a bounded nonoscillatory solution of (A). By Theorem 1, $x(t)$ and $x[g_{ij}(t)]$, $i = 1, 2, \dots, m$; $j = 1, 2, \dots, k$ are positive for $t \geq t_0$. But for $t \geq t_0$ the inequality (A) implies

$$(10) \quad L_n x(t) + \sum_{i=1}^m p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) \leq h(t).$$

We put

$$u_{\kappa}(t) = \int_{t_0}^t w_{n-\kappa}(s) L'_{n-\kappa} x(s) ds, \quad \kappa = 0, 1, \dots, n-1.$$

An integration by parts yields

$$\begin{aligned} u_{\kappa}(t) &= w_{n-\kappa}(t) L_{n-\kappa} x(t) - w_{n-\kappa}(t_0) L_{n-\kappa} x(t_0) \\ &\quad - \int_{t_0}^t r_{n-\kappa}(s) w_{n-\kappa-1}(s) L_{n-\kappa} x(s) ds \end{aligned}$$

$$\begin{aligned}
&= \frac{w_{n-\kappa}(t)}{r_{n-\kappa}(t) w_{n-\kappa-1}(t)} w_{n-\kappa-1}(t) L'_{n-\kappa-1} x(t) \\
&\quad - w_{n-\kappa}(t_0) L_{n-\kappa} x(t_0) - \int_{t_0}^t w_{n-\kappa-1}(s) L'_{n-\kappa-1} x(s) ds \\
&= \frac{w_{n-\kappa}(t)}{w'_{n-\kappa}(t)} u'_\kappa(t) - u_\kappa(t) - w_{n-\kappa}(t_0) L_{n-\kappa} x(t_0),
\end{aligned}$$

which shows that $u_\kappa(t)$ satisfies the differential equation

$$(11) \quad u'(t) - \frac{w'_{n-\kappa}(t)}{w_{n-\kappa}(t)} u(t) + \frac{w'_{n-\kappa}(t)}{w_{n-\kappa}(t)} \phi_\kappa(t) = 0,$$

where $\phi_\kappa(t) = -u_{\kappa-1}(t) - w_{n-\kappa}(t_0) L_{n-\kappa}(t_0)$.

Since $u_\kappa(t_0) = 0$, $w_{n-\kappa}(t) > 0$, $w'_{n-\kappa}(t) > 0$ and $\lim_{t \rightarrow \infty} w_{n-\kappa}(t) = \infty$ by Lemma 2, we conclude that $\lim_{t \rightarrow \infty} |u_\kappa(t)|$ exists in R^* whenever $\lim_{t \rightarrow \infty} |u_{\kappa-1}(t)|$ exists in R^* .

Multiplying (10) by $w_{n-1}(t)$ and integrating from t_0 to t , we have

$$\begin{aligned}
(12) \quad &\int_{t_0}^t w_{n-1}(s) L'_{n-1} x(s) ds + \sum_{i=1}^m \int_{t_0}^t w_{n-1}(s) p_i(s) f_i(x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds \\
&\leq \int_{t_0}^t w_{n-1}(s) h(s) ds.
\end{aligned}$$

Suppose

$$(13) \quad \sum_{i=1}^m \int_{t_0}^{\infty} w_{n-1}(t) p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) dt = \infty.$$

From (12) and condition (C₃) we have $\lim_{t \rightarrow \infty} u_0(t) = -\infty$. From Lemma 2 applied to (11) with $\kappa = 1$ it follows that $\lim_{t \rightarrow \infty} |u_1(t)| = \infty$. Applying Lemma 2 again to (11) with $\kappa = 2$, we have $\lim_{t \rightarrow \infty} |u_2(t)| = \infty$. Repeating in the same way, we arrive at $\lim_{t \rightarrow \infty} |u_{n-1}(t)| = \infty$, which implies $\lim_{t \rightarrow \infty} x(t) = \infty$, a contradiction to the boundedness of $x(t)$. Hence (13) is impossible. Thus

$$\sum_{i=1}^m \int_{t_0}^{\infty} w_{n-1}(t) p_i(t) f_i(x[g_{i1}(t)], \dots, x[g_{ik}(t)]) dt < \infty.$$

Letting $t \rightarrow \infty$ in (8), we see that $\lim_{t \rightarrow \infty} u_0(t)$ is finite. From Lemma 2 it follows that $\lim_{t \rightarrow \infty} u_1(t)$ exists in R^* . This limit must be finite, since otherwise we would

be led to a contradiction to be boundedness of $x(t)$ as before. Continuing in this way, we find that $\lim_{t \rightarrow \infty} u_{n-1}(t)$ exists and is finite. This shows that $\lim_{t \rightarrow \infty} x(t)$ exists and is finite. On the other hand, using (b) and condition (C_2) , we have

$$\liminf_{t \rightarrow \infty} x(t) = \liminf_{t \rightarrow \infty} y[g_{ij}(t)] = 0 \quad i = 1, 2, \dots, m; \quad j = 1, 2, \dots, k.$$

Therefore $\lim_{t \rightarrow \infty} y(t) = 0$.

REFERENCES

- [1] LU-SAN CHEN and CHEH-CHIH YEH (1976) - *Nonoscillation generating delay terms in odd order differential equations*, « Rend. Accad. Sci. Fis. Mat. Napoli », 43, 189-198.
- [2] R. S. DAHIYA (1975) - *Nonoscillation generating delay terms in even order differential equations*, « Hiroshima Math. J. », 5, 385-394.
- [3] T. KUSANO and H. ONOSE (1976) - *Asymptotic behavior of nonoscillatory solutions of functional differential equations of arbitrary order*, « J. London Math. Soc. », 14, 106-112.
- [4] D. L. LOVELADY (1975) - *On the oscillatory behavior of bounded solutions of higher order differential equations*, « J. Differential Equations », 19, 167-175.